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QUESTION 1

Which statement about the LifeCycle Manage Workbook (LCM) and any time there is a change made to the ACP 4200
implementation is true? 

A. The LCM only needs to be updated when hardware devices are changed. 

B. Retrieve the LCM from ACP 4200 support prior to making any changes. 

C. The LCM is only needed when receiving the ACP 4200. 

D. Update the LCM with all changes and submit it via email to podfxsupport@avaya.com. 

Correct Answer: D 

 

QUESTION 2

When performing a BIOS or firmware upgrade on physical host servers, why is it important to have vSphere access? 

A. The VMs must be restarted before the upgrade process. 

B. vSphere is needed to shut down the physical server. 

C. VMs must be shut down before the process. 

D. The server must be placed in maintenance mode before the upgrade. 

Correct Answer: C 

 

QUESTION 3

You are receiving High Availability warnings in the vSphere client. 

To resolve the issue, what would you try first? 

A. Stop and restart VMs. 

B. Ensure Storage Array is reachable from VSP. 

C. In the cluster, check cabling between server and storage array. 

D. Right-click each Host in the cluster and select Reconfigure for HA. 

Correct Answer: B 

 

QUESTION 4

Which feature in Avaya Orchestrator allows a support engineer to select the management protocols and credentials of
the equipment that is to be monitored within the ACP 4200? 



A. Monitoring Setup 

B. Orchestrator Security Center 

C. Device and Credentials Editor 

D. ACP Configuration Wizard 

Correct Answer: D 

 

QUESTION 5

A support engineer is upgrading a PodFX 3.1 system to ACP 4200 4.0, and is upgrading the VMware vCenter Server
from Release 6.0 to Release 6.5. 

Which three tasks are required as part of the upgrade process? (Choose three.) 

A. Replace the old HP server with a new HP DL360 D10 server. 

B. Identify the IP address and root account credentials of the ESXi host where the current vCenter Server appliance
resides. 

C. Obtain the VMware vCenter Server 6.5 license file. 

D. Obtain the VMware vCenter Server 6.5 upgrade file. 

E. Identify the IP address and root account credentials of the ESXi host where the new vCenter Server appliance will be
deployed. 

Correct Answer: BDE 

Reference: https://downloads.avaya.com/css/P8/documents/101061688 

 

QUESTION 6

Which command will verify VSP adjacencies? 

A. set isis adjacencies 

B. show isis adjacencies 

C. show isis routes 

D. show ospf routes 

Correct Answer: B 

Reference: https://downloads.avaya.com/css/P8/documents/100180474 (990) 

 

QUESTION 7



For the HP Server iLO interface, where is the default password located? 

A. Default Password is MAC Address 

B. LifeCycle Management Workbook 

C. HP Server Admin Guide 

D. Tag on server 

Correct Answer: D 

Reference: https://support.hpe.com/hpesc/public/docDisplay?docId=mmr_kc-0103124 

 

QUESTION 8

Service warning alarms are being received by Orchestrator indicating that Port 27 on VSP 4850-1 is down. 

How would a support engineer determine the equipment that is connected to this port? 

A. Network Diagram in the Lifecycle Workbook 

B. Switch Wiring tab in the Lifecycle Workbook 

C. ACP Installation Guide 

D. Physical inspection 

Correct Answer: D 

 

QUESTION 9

A support engineer is tasked with working on an ACP 4200 4.0 system. 

Which three pieces of equipment would the engineer expect to find in the rack that will differentiate the system from an
earlier release of PodFx 3.X or CPOD 2.X? (Choose three.) 

A. Dell R601 Servers 

B. VSP 4824 

C. HP Nimble Storage CS1000 

D. HP Proliant DL360 G10 Servers 

E. VSP 7254 

Correct Answer: BCD 

 

QUESTION 10



While configuring the MSC to use NTP you see the NTP synching fail. 

What is the most common cause of this problem? 

A. VMware is not supporting NTP. 

B. The VSPs are rejecting the NTP messages. 

C. The NTP server is installed outside of the ACP 4200. 

D. The customer has a firewall between the MSC and the customer\\'s NTP server. 

Correct Answer: B 

 

QUESTION 11

A support engineer logs into the System Manager (SMGR) application on an ACP 4.0 system with the intention of
checking Orchestrator warning messages for the Nimble Storage system. The engineer is unable to see the
Orchestrator link in SMGR. 

What is causing this problem? 

A. The engineer\\'s SMGR account has insufficient access privileges to launch Orchestrator. 

B. The Orchestrator link is labeled as Nagios in ACP 4.0. 

C. The Orchestrator link was removed from SMGR as part of the upgrade of the system to ACP 4.0. 

D. The engineer should connect to Orchestrator directly and not via SMGR. 

Correct Answer: C 

 

QUESTION 12



Refer to the exhibit. 

When a support engineer navigates to Orchestrator\\'s Rack View of an ACP 4200 system, the engineer 

notices that the V1-V6 slots on the right of the diagram are not populated. 

What could be causing this problem? 

A. V1-V6 are used to represent Virtual Machines which are not present in this particular system. 

B. V1-V6 are used to represent Vertical PDUs which are not present in this particular system. 



C. V1-V6 are used to represent G450 Media Modules which are not present in this particular system. 

D. V1-V6 are only used for ACP 100 systems. 

Correct Answer: A 
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